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AP Microeconomics

Unit 4: Demand, Supply, Elasticity and Consumer Choice 
*Question order is not consistent across assessments.

Lesson 2: Demand 
Quiz
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Lesson 3: Concepts of Demands Dropbox 
Sample Work – Teacher Graded

Lesson 4: Supply 
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Lesson 5: Concepts of Supply Dropbox 
Sample Work – Teacher Graded

Lesson 6: Market Equilibrium and Price Determination 
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Lesson 7: Concepts of market Equilibrium Dropbox
Sample Work – Teacher Graded

Lesson 8: Elasticity and Consumer Choice 
Quiz
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Lesson 9: Concepts of All Elasticities Dropbox
Sample Work – Teacher Graded

Lesson 10: Wrap Up
Test
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Lesson 11: Demand, Supply, Elasticity, & Consumer Choice Test
Essay Test: Teacher Graded
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+/ Question 1 1 point

Which of the following would be described s a ‘change in quantity demanded?"

v@ A
O
Oc
O

O E

In response to a price decrease, sales of major league baseball tickets
increase.

Major league baseball ticket sales increase in response to the league's
promotion of free game day parking.

Major league baseballticket sales increase in response to the league's
promotion of free hats for all attendees.

Major league baseball ticket sales increase in response to the increased
competition for the league title.

Major league baseballticket sales increase in response to improvements in
the local economy and rising incomes.
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+/ Question 2 1 point

Which of the following is not one of the factors that change demand?

(O A Consumer expectations
(O B. Consumerincome levels
/(@ C. Consumer attitudes toward risk
(O D. Population, or the number of consumers in the market

() E. Consumer tastes and preferences
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+/ Question 3 1 point

If the price of tacos decreases greatly,then the demand for taco sauce will probably

() A. decrease; because the goods are complements.
B. not change.
C. increase; because the goods are substitutes.

D. increase; because the goods are complements.

O ® OO0

E. decrease; because the goods are substitutes.
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+/ Question 4 1 point

If fast-food hamburgers are normal goods, then you'd expect ___ during a recession
(when incomes tend to fall.

O A supplyto shiftright
(O B. nochange or shift
/@ c. demandtoshift left

(O . demandto shift right

(O E. supply to shift left
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+/ Question 5 1 point

The ___ show(s) the quantity of a good consumers would be willing and able to
purchase at a given time for a range of prices, while holding all other factors constant

() A demandcurve

+/(® B. demand curve and demand schedule
O . supply curve
() D. demand schedule

(O E. supply schedule
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+/ Question 6 1 point ~

The __is (are) best described by the phrase, “The decline in the price of a good, holding
everything else constant, leads to an increase in the quantity demanded."

(O A demand curve
/(@ B. law of demand
() €. demand schedule
(O D. demand and supply curves

() E. None of the above




image7.png
+/ Question7 1 point

If the price of potatoes increases greatly,then the demand for rice (a substitute good)
will probably

A. decrease, because rice is a complement of potatoes.
B. not change.

(O . increase, because fice is a normal good and potatoes are an inferior good
/(8 D. increase, because rice is a substitute for potatoes

(O E. decrease, because rice is a substitute for potatoes.
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+/ Question 8 1 point

If chicken is a substitute for beef when making a stir-ry dish, a decrease in the price of
chicken will cause:

(O A anincrease inthe demand for beef.
/(8 B. adecrease in the demand for besf.

() C. adecrease in the supply of besf.

(O . anincrease in the supply of beef.

() E. anincrease in the supply of chicken.
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+/ Question 9 1 point

Assume that lobster is a normal good. An increase in consumer income, other things
being equal, would result in

/ (® A. arightward shift in the demand curve for lobster.
() B. anincrease in the quantity demanded for lobster.
(O ©. no change in the demand for lobster
(O D. aleftward shift in the demand curve for lobster.

() E. adecrease in the quantity demanded for lobster
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+/ Question 10 1 point

Asthe price of bananas increases, the:

O A supply of bananas increases.

(O B. demand for bananas increases.

() €. demand for bananas decreases.

(O . quantity demanded for bananas increases.

/(8 E. quantity demanded for bananas decreases.
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+/ Question 1 1 point

One day a supplier supplied 300 units of a good at $20 per unit. A week later the same
supplier supplied the same number of units at $10 per unit. Based on this evidence the
supplier has experienced:

(O A adecrease in quantity supplied
(O B. nochange in supply or demand.
() €. anincrease in quantity supplied
(O D. adecrease in supply.

/(@ E. anincrease in supply.
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+/ Question 2 1 point

What has been the biggest factor in the increased supply of computer chips over the
past few years?

() A Anincrease in the quantity demanded of computers
(O B. Anincrease in the demand for Internet service

(O C. Anincrease in the quantity supplied of computers
() D. Anincrease in the demand for computers

+/(® E. Anincrease in the supply of computers
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+/ Question 3 1 point

If potatoes and tomatoes can be grown on the same land, a decrease in the price of
potatoes, other things being equal, il cause:

®@ O 00O

a leftward shift in the supply curve for tomatoes.
an upward movement on the supply curve for tomatoes.
no change in the supply curve for tomatoes.

‘2 downward movement on the supply curve for tomatoes.

a rightward shiftin the supply curve for tomatoes.
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+/ Question 4 1 point

Which of the following is not a determinant of the supply of ice cream?

() A. The wages of ice cream employees that produce the ice cream
/(8 B. The price of ice cream substitutes
C. The price of aternative products that use sugar and cream

D. The price of sugar and cream

O O O

E. Existing ice cream production technology
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+/ Question 5 1 point

Let's say a change in weather ruins an orange crop. What impact willthis have on the
supply of oranges?

V@ A Supply will decrease.
(O B. The quantity supplied will increase.
() €. The quantity supplied will decrease.
(O . Supply will increase.

(O E. Supply will not be affected
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+/ Question 6 1 point

Which type of movement would lead to an increase in quantity and an increase in price?

A Quantity demanded increase
B. No change

C. Supply decrease

D. Demand decrease

E. Quantity supplied increase

®@ OO0 OO0
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+/ Question 7 1 point

Just before the Persian Gulf War, suppliers of gasoline held back the supply of gasoline
they were willing to sell. This action was an example of which of the determinants of

supply?

(O A Number of sellers
(O B. Prices of other goods

/@ c. Expectations

(O D. Government actions

() E. Resource Prices
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+/ Question 8 1 point

Many products, such as golf clubs, are made with graphite-epoxy resins because i's
strong and lightweight. If a new technology reduced the cost of producing graphite
epoxy, then you'd expect __ in the graphite-epoxy golf club market.

(O A both supply and demand to increase
() B. demand to decrease

V@ C. supplytoincrease
() D. supply to decrease

() E. demandto increase
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+/ Question 9 1 point

‘The points on a supply graph come from a(n):

(O A demand schedule

+/ (® B. supply schedule.
(O c. annual report of the company.
(O D. survey analysis.

() E. None of the above
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+/ Question 10 1 point

Workers at the local movie theater get a big increase in wages. What would happen to
the supply of movies as a result of the wage increase?

(O A Anincrease in the price of popcorn
() B. Adecrease in the price of movies

/@ C. Aleftward shift in the supply curve for movies
(O D. Anincrease in the price of movies

() E. Anincrease in the quantity demanded for movies
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+/ Question 1 1 point ~

imum wage is an example of a price floor. If minimum wage laws are enforced, there
is __in the market.

A asurplus
B. equilibrium
ashortage

D. balance

OO0OO0O0®
o

E. efficiency
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+/ Question 2 1 point

On a supply and demand graph, price will change when

() A. the quantity purchased changes.

(O B. there's a change in quantity demanded and a change in quantity supplied.
(O . either a change in quantity demanded or quantity supplied occurs.

(O . the quantity produced changes

/(@) E. eithera change in demand or a change in supply occur.
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+/ Question 3 1 point

I some factor causes demand to decrease and another factor causes supply to
decrease, what will be the net effect on price? (You may want to graph this.)

(O A Price drops to zero
/(@ B. Price is indeterminate
() c. Price decreases

(O D. Price stays the same

() E. Priceincreases
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+/ Question 4 1 point

The equilibrium price is the point where:

(O A. suppliers make a profit

(O B. increased supply causes prices to rise.
(O . increased demand causes pricestorise.
(O . suppliers do not make a profit

/(@) E. the quantity demanded equals the quantity supplied.
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+/ Question 5 1 point

Anincrease in consumer income increases the demand for automobiles. As a result of
the adjustment to a new equilibrium, there is a(n):

/(@ A upward movement along the supply curve.
() B. nochange in the graph.
(O c. rightward shift of the supply curve.
(O D. leftward shift of the supply curve.

(O E. downward movement along the supply curve.
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+/ Question 6 1 point

The price of orange juice increases. Which of the following is ot part of the chain of
events that wil follow from the price change?

() A. The producers of orange tree fertilizer will increase production
+/(® B. The manufactures of orange picking machines will lay-off some workers.

(O . Orange juice producers willincrease their production of orange juice.

(O D. Some orange juice consumers will reduce their consumption of orange juice.

(O E. People will buy more grapefruit juice.
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+/ Question 7 1 point ~

If something causes demand to increase and something else causes supply to decrease,
what will be the net effect on price?

(O A Price decreases

() B. Price is indeterminate
() ¢ Wecanttel

(O D. Price stays the same

/(@) E. Priceincreases
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+/ Question 8 1 point ~

Rent control is an example of a price ceiling. If a rent control law is enacted, there will be
inthe market

() A balance
(@) B. ashortage

O ¢. asurplus

(O D. equilibrium

(O E. efficiency
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+/ Question 9 1 point

True or False: The minimum wage is an example of a price ceiling.

O A True
(@) B. False
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+/ Question 10 1 point

Anincrease in quantity demanded can be caused by:

®@ OO0 0O

A anincrease inthe price of substitutes.
B. achange in tastes.

C. anincrease in population.

D. anincrease inincome.

E. lower input prices.
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+/ Question 1 1 point

If the price of Super-Dooper Cola decreases, what happens to the equilibrium price and
equilibrium quantity for Really Wonderful Cola? (You may want to graph this question to
find the correct answer)

(O A Nochange

() B. Price increases and quantity decreases
() C. Price increases and quantity increases
(O D. Price decreases and quantity increases

/(@) E. Price decreases and quantity decreases
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+/ Question 2 1 point

True or False: The larger the number of substitutes for a good, the greater the price

elasticity

V@ A Tre
(O B. False,
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+/ Question 3 1 point

In using the midpoint formula for price elasticity of supply, the numerator (the value on
the top of a division problem) is:

(O A (P-Py)divided by the average of P and A,.

(O B. (P-Py) divided by the average of Py and P;.
@ C. (- Q) divided by the average of Q; and 0,

(O D. (Q4-0y) divided by the average of Q; and Q,

(O E %aQdivided by %AP.
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+/ Question 4 1 point

If the cross-price elasticity of demand is negative, the two goods being examined are

A. complements.
B. substitutes.
C. normal goods.

D. luxury goods.

0000 ®

E. inferior goods
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+/ Question 5 1 point ~

Say your friend Nick sells skateboards. He sells 30 a week at $150. He then raises his
price to $175 and sells 25. Use the midpoint formula to determine a fractional numerical
value for the price elasticity of demand.

O A 22/26
O B 424
O c. 4143
() D. 24126

v@® E 13




image36.png
+/ Question 6 1 point

An example of a good or service that probably has a highly inelastic demand curve is:

O A acD
(O B. asportscar.

/(@) C. anoperation, such as an appendectomy.
() D. apair of designer jeans.

() E anew sweater
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+/ Question 7 1 point

Which of the following goods islikely to be the most income elastic?

(O A Schoolbooks and supplies

() B. Anew refrigerator

O c. Groceries

(O . Transportation to and from work or school

/(@ E. Amealinarestaurant
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+/ Question 8 1 point

To find total revenue:

() A. subtract price and quantity.
(O 8. divide price by quantity.

(O c. divide quantity by price.

(O . add price and quantity.

/(@ E. multiply price and quantity.
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+/ Question 9 1 point

The price elasticity of a demand for a good:

(O A canvary from person to person.
() B. canbe affected by the number of substitutes.
() €. can change over time

(O D depends on the proportion of income the good requires in order to be
purchased.

/(@ E Allofthe above
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/ Question 10 1 point

Your friend Rita sells live bamboo trees. She's willing to supply 100 S-gallon buckets of
bamboo trees for 80 dollars  bucket. Prices increase to 160 dollars for a S-gallon
bucket, and she’s willing to supply 200 at that price. What is the mathematical value of
Rita's price elasticity of supply and how would you categorize her supply elasticity?

O A 2elastic

O B. V2 elastic

O C. Ginelastic

O D. 1172 unit elastic

v @® E 1unitelastic
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+/ Question 1 3 points

Which of the following would cause a decrease in supply of new automobiles?

(O A Adecrease in the price of steel, which is used to make new automobiles
() B. Adecrease in demand for new automobiles

(O €. Many new technological improvements in the production process

(O D. Adecrease in worker benefits

/(8 E. Newlaws that require additional safety features in new cars
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+/ Question 2 3 points ~

Economists divide time into long run and short run. Which of the following is an accurate
description of either the long run or the short run?

/(@ A. Inthe long run, all factors of production can be changed.
(O B Inthe short run, all factors of production can be changed
(O €. Inthe long run, some factors of production are fixed.

(O . Inthe short run, no factors of production can be changed.

(O E. Long run and short run refer to consumer responses, not supplier responses.
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+/ Question 3 3 points

Which of the following is correct?

V@ A

O 8
Oec
O o

O E

If two goods are complements, their cross-price elasticity of demand is
negative, and if two goods are substitutes, their cross-price elasticity of
demandis positive.

f two goods are substitutes, their cross-price elasticity of demand s
negative.

If two goods are substitutes, their cross-price elasticity of demand remains
the same.

If two goods are complements, their cross-price elasticity of demand is

negative.

Iftwo goods are complements, their cross-price elasticity of demand is.
positive.
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+/ Question 4 3 points

If a moderate increase in the demand for tulip bulbs results in a huge increase in the
price of tulp bulbs, we can assume:

O A the supply is very elastic.
() B. suppliers are very sensitive to changes in price.
(O . nothing useful.

(O 0. suppliers had a lot of time to respond to the increase in demand

/(@) E. the supply is very inelastic
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+/ Question 5 3 points

The law of diminishing returns says:

(O A. nothing about utilty - it's about costs.

() B. marginal utility increases as consumption increases.

(O c. total utility increases as consumption increases.
/(8 D. marginal utility decreases as consumption increases.

() E. total utility declines as consumption increases.
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+/ Question 6 3 points

Market equilibrium:

®@ O 00O

A

c.

D.

E

oceurs at the market-clearing price.

occurs where quantity supplied equals quantity demanded.
is achieved through an automatic adjustment process.

is a stable situation, ceteris paribus.

Al of the above.
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+/ Question7 3 points

Aninferior good is characterized by:

O O O

A

c.

D.

E

2 decrease in quantity demanded following a decrease in price.
a decrease in demand following an increase in income.

a decrease in demand following a decrease in income.
low-quality construction.

a decrease in demand following a decrease in price.
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+/ Question 8 3 points

If the government subsidy of lettuce increased

(O A the supply of lettuce would decrease.

(O B. the supply of lettuce would not change.
(O €. the demand for lettuce would decrease.
(O . the demand for lettuce would increasee.

/(@ E. the supply of lettuce would increase.
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+/ Question 9 3 points ~

Maryland farmers produced an unexpectedly large crop of Silver Queen Corn. The hot
summer also greatly increased the number of barbecues, where corn on the cob s a
favorite. As a result, the equilibrium price of com and the equilibrium quantity

(O A increased / decreased

/() B. isindeterminate / increased
(O C. increased / increased
() . increased / remained unchanged

(O E increased / is indeterminate
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/ Question 10 3 points

Which type of government intervention wil result in a surplus?

(O A subsidy
(@ B. Pricefloor
O c. Price ceiling

(O D. Regulations on quality

(O E Tax
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+/ Question 11 3 points

High prices for gasoline caused by a war between oikproducing nations increased the
costs of providing taxicab services. As a result, the equilbrium taxicab fare
and the equilibrium number of rides

() A increased / increased
() B. decreased/ remained unchanged
(O C. remained unchanged / decreased
(O D. decreased/ increased

/(@) E. increased / decreased
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+/ Question 12 3 points

Graphically, an increase in demand is a and an increase in supply is

shift down / shift up

. shift to the left / shift to the right

shift to the right / shift to the left
shift to the left / shift to the left

shiftto the right / shift to the right
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+/ Question 13 3 points

Avery cold winter resulted in an increase in demand for space heaters. This caused the
equilibrium price to and the equilbrium quantity to

A. decrease / remain unchanged
B. increase / decrease

() C. remainunchanged / decrease
/(@) D. increase / increase

(O E. decrease/ increase
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/ Question 14 3 points

If the income elasticity of demand s a positive number greater than one:

(O A the good s a poorly made good and is income elastic.

(O B. the good is a normal good and is income inelastic.
/(@ C. the good is a normal good and is income elastic.

(O D. the good is an inferior good and is income inelastic.

(O E. the good is an inferior good and is income elastic
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+/ Question 15 3 points

When the price of coffee increases, people buy less coffee and more tea. This is called
the:

/(@ A substitution effect
() B. income effect
(O . complement effect.
() . Allof the above.

() E. None of the above.




image56.png
+/ Question 16 3 points

I an increase in the price of a good causes an increase in total revenue:

0000 ®

A consumers spend a small portion of their income on the good.
B. demand is elastic.

C. there are many substitutes for a good.

D. consumers are very sensitive to price changes.

E. consumers have a lot of time to respond to a price change.
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+/ Question 17 3 points

Find the price elasticity of demand using the midpoint formula: P; = $8, Q; = 500, and
when P, = $12, @, = 300.

O Az
v @® B. 54
O c.os
O as
O EO05
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+/ Question 18 3 points

The supply curve shows the relationship between the price of a good and the quantity
supplied. This relationship is:

(O A indirect, with price as the dependent variable.

() B. positive, with quantity as the independent variable.

(O €. direct, with quantity as the independent variable.
/(@ D. direct, with price as the independent variable.

() E. negative, with price as the independent variable.
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+/ Question 19 3 points

Which of the following is not true about an elastic demand?

(O A Consumers spend a large share of their budget on a good.
() B. Consumers are very sensitive to changes in price.

() €. The demand curve is relatively flat.

() D. There are many substitutes for the good.

+/(® E. Consumers have ittle time to respond to a price change.
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/ Question 20 3 points

1f Mary's total utility from a movie is 10 utils, and Nancy's total utility from the same
movie is 12 utils:

() A Mary enjoyed the movie more than Nancy.
/(8 B. we can assume nothing about their relative enjoyment.

(O €. Nancy clearly enjoyed the movie more than Mary, and Mary enjoyed the
movie almost as much as Nancy.

(O D. Mary enjoyed the movie almost as much as Nancy.

() E. Nancy clearly enjoyed the movie more than Mary.
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+/ Question 21 3 points ~

The law of supply states that:

O A
O 8
v@® c

O o
O E

anincrease in the price of a good increases the quantity that sellers sell.
an increase in the price of a good increases the supply of that good.

anincrease in the price of a good increases the quantity that sellers offer for
sale.

anincrease in the price of a good decreases the supply of that good.

an increase in the price of a good decreases the quantity that sellers offer
for sale.
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/ Question 22 3 points

If peoples’ tastes change and suddenly homemade iced tea becomes very popular:

() A. the demand for lemons would increase because lemons are a substitute
good.

(O B. the demand for lemons would not change, but the quantity demanded for
lemons would decrease

(O €. the demand and quantity demanded for lemons would be unaffected.

(O . the demand for lemons would not change, but the quantity demanded for
lemons would increase.

/(8 E. the demand for lemons would increase because lemons are a complement
good
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/ Question 23 3 points

The law of demand says:

() A. asthe price of a good increases, the demand for it falls.

(O B asthe quantity demanded for a good increases, the price of the good falls.
/(@) C. astheprice of a good increases, the quantity demanded for it falls.

() D. asthe price of a good decreases, the demand for it falls.

(O E. as the price of a good decreases, the quantity demanded for it falls
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/ Question 24 3 points ~

Milk is a major input in the production of ice cream. An increase in the price of ice cream
wil

/(8 A. decrease the supply of cheese, an altemative use for milk.
() B. decrease the demand for cookies, a complement to milk.
(O . increase the supply of cookies, a substitute for ice cream.
() . increase the supply of cottage cheese, an alternative use for milk

() E. decrease the demand for frozen yogurt, a substitute for ice cream.
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/ Question 25 3 points ~

Consumer surplus measures:

/(@ A. thetotal utilty of all consumers minus the total expenditures of all
consumers

() B. the additional satisfaction each consumer enjoys when he or she purchases
2 good, which is the same for every consumer.

(O . the marginal utility of all consumers.
(O . the total satisfaction every consumer enjoys when they purchase a good

() E. the marginal utiity of all consumers minus the total expenditures of all
consumers.
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+/ Question 26 3 points

A shortage occurs when:

() A. there is excess demand for a good.

() B. there s a price floor above the equilibrium price
/(@ C. there s a price ceiling below the equilibrium price.

(O . demandis very high

(O E supplyis very low.
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+/ Question 27 3 points

In economics, demand for a good:

O A
O 8
Oec

v@® b

O E

increases when the price of the good decreases.
decreases when the price of the good decreases.

is the relationship between the price of a good and the quantity people
actually buy.

is the relationship between the price of a good and the quantity people are
willing and able to buy.

refers to the quantity people want to buy.
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/ Question 28 3 points

Which of the following would ot result in an increase in demand for dentures today?

() A Asignificant increase in the life-expectancy of the elderly
(O B. Anincrease in the size of the elderly population

/(8 C. The expectation that a new, vastly improved denture is likely to be offered
s00n

(O D. Anincrease in social security benefits that elderly people receives

() E. Asignificant decrease in the price of denture cleansers
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+/ Question 29 3 points

I an increase in the supply of fish causes a huge decrease in the price of fish, we can
assume:

O A that demand is very elastic.

() B. thattotal revenue fell for fish suppliers
(O . nothing useful.

() . that demand is unit elastic

/(@ E. thatdemand is very inelastic.
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+/ Question 30 3fpoints

Which of the following is nota determinant of demand?

() A. Tastes or preferences
@ B. Inflation

(O ¢ Income

(O D. Expectations of consumers

(O E. Population
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